R "7 '0W 2,70 A 702

But leaning is required — 119510 Swya KM

OVERVIEW

The mwn ruled that if one sends his nXvr 7279 from overseas, we may offer it
assuming that the sender is still alive.! The xm3 asks, how can we offer it without
the owner, for there is a requirement that the owner of a j277 must preform 7310
on the ]:‘u?.z Our MmooIn discusses when we require (72°1n3%) 712°10 and when not.

N1v0IN comments:
- 4;‘!51‘\”95 19990 N9a MYy 1PN 0PN 5o 3m:»n NY 19107 3N Yy GN

Even though that 72529 does not prevent the 12797 from being valid, nevertheless
it is not proper to being the 7%nno% 1277 without 7759720 —

mooin offers other examples where it is apparent that we require 771037 715°0:
- NYAY 20 DWY 2995 DIWTPA DIVTD DNN PNT AN (3,19 97 a0 IYIYNN P93 7599 199

And similarly in ma1yns 779 the X3 asks on this which the 7= there’
teaches, ‘mi29p which were mixed with other nu29p of the same type, they

should be offered for the sake’ of the unknown owners; the X3 there asks -
- DOW) 129772 2IUMY NI NIPYA N

‘But we require ;7712°»%’ (how can we offer this 1277 without 773°20), and the X n3

answers (as it does here) that this rule is ‘by women’s 3299’, which does not require

72°10; indicating that where 71510 is required we do not offer it without 173°70 -
= DNNTI Y 129YMY NYNN 22D (x,00 97 DYRN P92 DNV 1)

And similarly in 2°799 ndon in AWNR7T P95, regarding the case of five people

whose hides of their nop N11277 were mixed up (after their M2 were brought) -
— 53W NDD MUY PNVST 1NN 1NN “NYas NP

And a n%2> was found on one of the hides, the rule is that they are all exempt

from bringing a "1w no2; we exempt them -
- HDON NN MINNYY N¥aNY DINPY 29 Yy 9N

" If the owner (sender) of the nxvn dies, the 7277 may not be offered; in fact it is left to die. This is called a nxwn
7"9va nnw (and is one of the mnni NIXYN).

* See XM 7"7 *"w1. When performing 71220, one must lean on the animal’s head with all his strength. The X723
answered that our 71wn is by 0°w1 127p where there is no 73°10; however a man cannot send his j27p.

3 (See X, Xn1.) What therefore is the s'%7nx question?!

* From the 71wn it is apparent that we offer this 72rin2% nxur, even though there is no o*»y2a 7m0,

2Ry

® A 92> is a type of wart which renders the animal a 2w 53 and ineligible as a 127p.

" One of these five people did not bring a 1o 127p (since his 127 had a 2In), and should be required to bring a j27p
on " 1109, but since we do not know whose 7277 had the 01, none are required to bring a j27p.
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Even though they can bring a nos;7 9n,” and stipulate’ -
- %9957 %93 ND MM NI9D WA XY NDST DIVYN 19909 91 190N

Nevertheless they are 112 from bringing a 1057 70, because a nop 1277 does

not require 7715920 and a no57 N when it is brought as a %W requires 7159720 -
= NPYII9TI NIMD XY MYYY PN NINNIYT NINID XY 1YY 1399N N9

And we do not say let them bring these o517 7N without ;732°2% (since 72720 is
not 20¥n), for 779nn>» we do not bring a 1277 without 715972 as I explained.

In summation; moon derives from various sources'' that one is not permitted to bring a 1277
79 1no% without 1713°70, even if otherwise there will be adverse repercussion.12

nooIn asks:
- Ponomaaap Proumn NPV 9AY 0INAT YT 1IN (a0 47 0wy DNV RN PI92T NYD)

And there is a difficulty; for in wrw: 7920 P99, the X1 states that regarding all

Maanp an Y and a X»Y can send their N1329P to be offered on the mam -
- ¥n99m0N 199 89

And we are not concerned about the lack of 119920 —

mooIn responds to an anticipated resolution
- Bynaan 11907 9139199 NI

And we cannot say that the X201 57y will be 7210 outside the 777 -
- NIIINT NVINY NINDY 99N 11PN (a5 47 mnap) PIIDN Y3 919247

For in 70577 ®2 pap, we conclude that n''m% the 172°2 must be immediately
before the mwinw —

mooIN rejects another alternate resolution:

A oo anm (a leftover noo) is when one set aside a 1o 127p, and for whatever reason did not use it, or he had
leftover money from buying a ros J27p, this 1057 1A (or leftover money) becomes a o°n7w, but it is eaten only 2v?
7271 (not TR 79°91 o1 1w like a regular 27w [see *"wA there N2 0o 7"7]).

? These five people should find five oo 9 and offer them on *3w foo with a stipulation; if my oo had the 2w,
this noo7 9N should be my *3w 1d 129, however if my 127 did not have a o, this o977 AN should be a 2Mow.

10 Therefore each one will not know whether to make 73°0 or not, and we cannot tell them to make 775710 regardless,
because since the 1109 1279 does not require 1310, it is prohibited to make 77210 on it for it is @°WTpP2 WnNWA.

i 1. Our X3 regarding sending a NRYA. 2. 2°WTP2 127N 2°wTR. 3. 2N0D MM 127N awnn.

Pn#2 (see footnote # 11), the o°w7p will be set out to graze (and will not be brought as a 127p; in # 3 the person
(whose animal had a 01) will not bring a 192 1277 (not "W&"2 and not °1w2).

" They may send it even though they cannot enter the 775y. The exception is 1109 121p, which they cannot send.

4 The 1297 is slaughtered in the 771, where the X1 97 cannot enter, so they cannot make 771510 in the 777v.

15 If we should assume this, there is no question, for there will be 371y yIn 72°10.

1 If the 720 is 7YY vIn, the v nw will not be immediately after the 71310, for the 1272 will need to be brought
into the 771y, which takes some time.
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- THRDY N1 PNT TWON A2910Y XY VAN 19Y RY NEPNT AN ININT INDY 199N)
And even according to the one who maintains that a partial entrance in not
considered entering, nevertheless we cannot say (according to this 7"n) that it is
possible that he will bring in his hands into the 771V and perform 775%%0 —

mooIN rejects this resolution:
- 19593905 5947 *9391 XN 12999 WK 790D 93 19590N (ow nt oy PIIDON Y3 P93 NNT

For 70 21 states in 7910271 92 P15, , ‘whoever is 720 must have his head and a
majority of his body inside the 771y, for by 715°10 we require that he leans on the
animal with all his might’ —

mooIn rejects other possible resolutions:
- N1 At IND 9IPT 9193 MPING NI

And we cannot establish the previously mentioned rule of &nv 97w o°nar 937
07°NI2p Prvwn, by a bird 1270, which does not require 75°20, because a bird is

not a nas -
= 99y DIVN DIVY) Ja9pa N9 MNP O*NATH 59 NPT ’):‘,”N':! N9 13 AWUYNI 91522

And we also cannot establish that ruling by ="ww2y 9953 (which do not require
72°10), since the ruling stated ‘all the 2973t (not only 2wym 732), and we cannot
establish it by women’s n1122p since it mentions ¥, which refers to a male.

In summation; there is a contradiction; previously msoin proves from three place520 that a 127p
cannot be brought 177mn2% without 75710, regardless of the consequences;21 however by R 7w
they can send their 751n3% M127p without performing 17570.

mooIn answers, distinguishing between Xnv) 77y and the previous three cases:
- Py 81 1INYAY NND M 0PY DIFPY 1195 NOINYT 9D W

And one can say; that here (in our 71w» of sending a nxwvr), since he can fulfill

the mxn» of 7o°1ne, by bringing it himself, therefore -
- 190 XY MUY 1Y PN

' This 7"» maintains that the prohibition for a Xt to enter the 771¥ is only if his whole body (or 217) enters, but if he
merely sticks in a finger or a hand (a nxpna X*2), a partial entry, there is no prohibition. Seemingly according to this
7"n, we can say that the 271 &nv will only extend their hands into the 771y (which is permitted) and do 727n0.

'8 Therefore he cannot do it with a n¥pna 78" (see footnote # 17).

19 1o (or @’ma1) refers to animals which are vrw1 with a knife to the throat, while the bird m127p are offered through
TP>7n; a fingernail piercing the neck.

%0 See footnote # 11.

*! See footnote # 12.

*? Therefore the X3 answered, only women, who are not obligated in 7750, may send their nxur.
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He should not do it without /7229, by sending it. This explains case # 1 —

noDIN continues with case # 2:
- %155993 73PN 15 U3 (3,79 97 0w) AN 9993 19

And similarly in n12y9wn77 P99, there is a resolution by grazing -
- P2 MIPN MY NT DIYN DUN 1) Ponn 1Yo 1 3anT

For indeed the X713 there distinguishes regarding an awX which was mixed up
with a %W that it should not be offered since there is recourse through 7>y -

mooIn continues with case # 3:
= PPN 09N WY XY NIN NV NNIYYT PAD NIAY 119 ) 2muNn 7992

And also in 7wR? P99, since there is a doubt, for perhaps he is "wp from

bringing a "1w nod, therefore the @221 did not make an enactment to bring a
noo: -
= 1250 MYN MNAY’ XY ON 1PN 9VIN INT

Since this enactment is impossible unless we will transgress the 1x% of 750 —

After explaining why we do not allow a 127p without 72°10 in the three aforementioned cases,
MooIN contrasts the cases of 11 77w where we do not require 775°10.
=PHNNY NIPN I PRY 1119 99991 XNV DY VAN

However by X»w) » when we allow them to being their n1127p without 72°10,

that is in a case where for instance there is no recourse by waiting -
- 1Y DIV 911299 HWAN INT N9 NN 1PAN INNY P9

For instance in the case of the 7y, where his brothers died on account of 119,

so it is impossible for him to be %2 in any way, he will never be able to bring a 1277 if

we require 172°0 -
= 128¥2 NI INNIDT PRY YIILMI 2T 1) NHV)

3 See text by footnote # 5. This is the case of nM127p which were mixed up, they cannot be offered, because the
owners cannot make 72°10.

* These n1127p will be set out to pasture until they receive a 0 and they will be redeemed, and new mia7p will be
purchased and offered from the sale money. There is therefore some recourse for these n1127p.

¥ x,. The 71wn there states that if an WX was mixed up with a 22w, we do not offer it up X7 *» Dw» (see text by
footnote # 5), but rather they are left to pasture until they receive a 21 and new n127p are brought. The X7
reconciles this ruling with another seemingly opposite ruling by saying the reason we are not 2pn it X3 °n Qw2 is
because we have recourse to have it graze. This proves that the recourse of 7y is sufficient that we do not offer
n1127p since there is this recourse. Similarly here we do not offer n1127p without 7310 since there is the recourse of
v,

% See footnote # 7 — 10.

*7 When two brothers die on account of receiving a 77 n72 (they are hemophiliacs), it is forbidden to be “» the
next brothers, because it is a N1W51 N1J0.
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And regarding the ®»w¥ we are discussing for instance a 23t or a ymx» whose

healing (ceasing to be a ¥y7x¥»1 21), is not dependent on him; he may never become
M -

- %) 150 ONX ANNRD Y33 92y DAY 1D 993 ON
Or you may also say; where for instance he would transgress the prohibition of
218N ®2 if he would wait until he becomes M. Therefore in these cases of Xnu1 91y where
there is no other way he can bring this 7279, we allow him to send it even though there will be no
72m0.%

mooin offers another case where 72°10 is not required -
= (8,797 1PYITPT 72 P92 NY 9N (1 mawn 1 o) BITPYA INT NINN 1D

And similarly that maw» in 2v%pw which is cited in the second pap of noon
PR -

- ©INYY INAT MAPI MY 03991 91Y H1NY ©IYWIT 12 XYMV NNNa
‘Cattle which was found between 2°>217° and 7Y 73%; males are brought as

m>, females as 2w sacrifices’, for we assume that these animals are M127p. In any
event these M127p are bought without 72°10, since we do not know who the owners are -

- 19910 XY2 29PPY KIN M1297 DIMNRY HINK NIPN PN ) 0NN
There too there is no other recourse for those nia9p except that we should
offer them without 712%%9 (just like xnvY 77) -

- 71210 1RV 29 Y N AN 1399 N¥NVY U 1)

And similarly an heir; brings his father’s 3299, even though he is not 9219, since
there is no other 73pn for that 127p.

In summation; Mo distinguishes between the cases of Xnv 27y, lost Mia7p and a w1, who
bring their NM127p without 72710, since there is no other recourse for these N33 (or he will be
72w on MRN 92) and the cases of our 127WNIw 2°WTp ,7Iwn and 121 127VNIW 0°109, where since
there is some recourse of either bringing it oneself, 7™y, or a 21°1 PoY, there is no 727p7 without
12°720.

nooIn asks:
- HNR NNVN DINYAN DAY (x50 mnran) > NVINY BT PI92 13T XN 9NN ON)

% Once one makes a 173 to bring a 1277 he is obligated to bring it as soon as possible if he tarries with this 1277
(more than three 0°231 according to one opinion) he transgresses the W2 of 7w kN X (see 23,30 [K¥N] 0°127).

¥ See ‘Thinking it over’ # 1.

% A 791 1297 can only be brought from a 131, while a 2392 can be brought from a 937 or a 72p1.

3! The case there is where there were two pieces; one was 271 and the other was Iw>; one person ate one piece and a
second person ate the other piece. w" rules they can both bring one nXvn j277 (since one of them surely ate the 2%1)
and they stipulate that the 1277 should be for the one who ate the 257.
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And if you will say, but this which the /w2 taught in mwsnw a7 pas, ‘and v
rules that they both bring one nxun’ -

- NI TAN 12977 DINOINY (1 47 1) - DI991) 93W P92
And in 2911 2w P9 where the mwn states that they bring one 3299 with a
stipulation -

- ZawNn §997 XNNM NIYW IND 1KY I09Y 579 NIMNT KXY 1297 SN0 NIYN
It is evident from these two n11wn that one brings a 339 without 715%%9, in order
to exempt himself from a 277 2117 p90; why are these cases different from that

cases In STWNT P92 regarding the five whose hides were mixed up, where we do not allow
them to bring a 19577 7NN by a 250 since they cannot do 713°7207!

MooIN answers:
- %18y 11095 15 12910 NYa 7901 1NN 1397 DINANY DDIN NPN INTIT 9217 Y

And one can say that the 23251 certainly instituted that we offer one doubtful
1297 without 7712920 in order to exempt him from a 1217 obligation -
- 109N 997 199 O 129 N¥aNY Yax
However to bring a °X71 1292 (a ‘certified’ 33p) like the o277 90 -
- 36”389 NN VY 75 N0 XY INYANY 0NN 1NN NY
The 22511 did not permit to bring it without 772920 in order to exempt himself
from his 211 for a 709 127p.

Mmoo asks:
= 13999N (3,30 97 mnn) NNN NIND MNINN DI P93 9NN ON)
And if you will say; in 5737 nIX2 nmann 9o s, the X002 states -
- 119590 5P NN %91 TaY 23 115 IY 423 113 030 NN PP NHIVD

2 The case there is where someone told two 21 that I know with certainty that one of you became Xnv and is
required to bring a AR 127p (and is required afterward to cancel his N17°11 and start over again and bring a 127p
777v). They can both complete their N17°11 and bring two N3P (one 7XMY 1272 and one 777v 127p), and each one
stipulates if I am the Xnv, the XMV 1277 is mine and the 77770 1277 is yours. They need to redo their 2501 N17°11 and
bring another 717771 127 and make a stipulation that this 777 12792 should be for whoever was Xnv. This last 127p is
offered without 7712°10.

¥ See footnotes # 7 — 10.

* The nxun (see footnote # 31) that he is bringing is a poo for he may have not eaten the 257, so therefore we are not
that concerned that the owner (the real sinner) does not do 772°10, since we are not sure which one of them requires
12°10.

35 The noo AN which each one of them is offering is a 127 "XT1 (not a Poo).

% In the case of a ppo (in Mn™3 and 7°11) we are not certain to whom this 127p belongs, therefore in order that they
exempt themselves from a 127p we allow it without 713°n0. However by the 105 127 each one of them is bringing a
viable "RT1 127, a 1od:T N, as his 127, therefore we cannot allow them to bring it without 73°0.
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‘One who sends his n139p from overseas, the 3772 waves it on his behalf’, but
how can he do this, for we require 772°%20?!
- ©YVA MRT YIYN T Tranpme
For since the Xn>>12 states n1% it indicates that we are discussing a 2omYw -
= 77 DY 9930 1N NYNNI XY ND Nan NNT MPIND NI DIV 12993

And we cannot establish this ruling by a 2°w1 3399, which does not require 713710
(as we answered here) for the o°w1 are mentioned in the beginning of that Xn»"2

which states, ‘and a 3772 waves the j29p on behalf of the woman -
- NvY Hya IPING DAY

And it is also difficult to establish that Xn»12 by an %3 7, who we said before
may send their NM1127p without 772°10.

Mo0IN answers:
= 120 19X YIS 9INRT NN 52939 W9 1999107 9D U

And one can say that the Xn>71 is discussing an heir, and according to >''s who
maintains that a 29y is not 720 —

mMooIn responds to an anticipated difficulty:
- 40])5‘\ NNVNT DIVN YA 1WN RDT NOM

And the reason the X713 here did not answer that we are discussing a w9, is that

the 71w states a NRWM, which a w1 cannot bring -
NNV 19PAN YAYNT BINATN 99 139 (3,8 oonan - IN2YIYNNY

And similarly in m2yapni P79 where the X713 asks, '12°20 *va XY, we could not
answer w113, since the mwn states a°marm 92, which indicates even a nxun.

nooIN asks:
= N2OY1I ND N0 2N TIIDY 1PINT PPNT 1NN DI N1HVI DAY 99NN ON)

And if you will say; an X»w) %7p and all these that are not fit to be T»w;

granted that 1729720 generally does not prevent the 1277 to be valid, nevertheless -
- 52 nasym NYra 1YY INT IPRY Y5 N1

7 mooin proves that this 127 is not a 7w 127p, which does not require 73°20.

* There is a requirement by a 22w 7277 that the 77117 and the 251 should be waved (see 2,1 [18] X1p™).

% The xn™12 would have specified that it is discussing an X211 77w only. Moreover if we are discussing an Xaw 77,
why mention *";77721 "M 02w, the same rule applies if he is here in 25w since he is an X0 77y, See X"wAnn.
% A w1 cannot bring a nXwvr 7277 which his father was obligated to bring, since it is a 7°%¥2 naw nxun, which is left
to die.

* See text by footnote # 5.

2 The 710 writes by mimn they should be w2 77192 (mixed with oil). The rule is that if the flour was not mixed
together with the oil the an is 9w3; since it is 79°2% X1 (it can be mixed). However if there is so much flour (more
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Let us say, whoever is not fit for mixing, mixing prevents it from being valid, and
the same should apply to 712°10 —

N1B0IN answers:
- 992319 XYY 12913 210 1AV 99) ho xapy BN NN )Y MY YN

And one can say, since we expound in >''\n the P09, ‘and when the 21 will

become 7177w from his 317, to mean that he need not become 7170 from his wai -
- “5999% 1299 NNANAT ©PI9D NYYN NPVT NI YNV

We derive from this 7w17 that a 8%w (the 21 who was 121 770, but was still X»v
with n¥y7¥ n¥Mw), may send his n1129p, for those 2’105 following 131 77w 2, are
discussing bringing his 329p.

mooin offers another reason why 712710 is not 25v71 by a Xnv:
= TN NIV (3,797 DIINT NNIP P92 120INNTN I

And additionally, since in the first P92 of 3am noon we exclude a X»v from

being required to bring an $°X7 N in the wpni n°2 on the 2931 WHw; we derive it -
- NN MY YAanoaa pnwrw 93 Pany onxam nnv nxam

From the 705 of ‘7w anxam 7»w nX2Y (and you should come there and bring

there)’; expounding it to mean, whoever can enter (into the p"»°2), he can bring -
:N9MDY NN RNOYW 1PUMN X9 AWM 7P INYT °nan ynv

We derive from this 7129 that he is only exempt from the 7°X1 7277, but he may
send other nu29p, for we are not concerned that he needs to be fit for 729%8.

than sixty Mwy) which makes it impossible to mix the flour with the oil, the nmn is 2105 as NMdOIN writes IRY 22
12 N23yn 7921 ,772°2% "X, The same rule should apply to 79°10; if one is able to do 1120 and did not do it, then X
n23vn 712°nd, however if one is not 73107 X like a Xnv, so the rule should be that 12 n23y» 73°10.
# a"sn ooar,
* 3 p1oo. The word "2wn' is superfluous; teaching us that he only needs to become 7%7v from his 211, but not from his
ny X (if he is a ¥y71¥n); he can still bring his 127p, even though he is still Xnv.
* See “Thinking it over’ # 2.
4 We see therefore that the 70 specifically included that a Xnv (who cannot enter into the 777¥) may send his j27p,
even though he cannot perform 72°10.
*7 The 0°p105 there read as follows; T .79 070 D3 T2 YO 1732 032) N0 oo nyw 12 799) 129 243 737 )
31 3 212 03w IR 0D RY 7 mRY rnwa 021, We are discussing the 31 bringing his j27p, even though he may be a
yMIxn.
* The 0°p109 in 1-7,2° (7X") 0127 read; W7D 1IWH OV Y N§ DALY DRIV I DYTOR T N WK DIpHT YN 0K °3 7
31 02°00Y Y BNNAM 1R DRI,
4 A xnu cannot fulfill 7nw nx2) for he cannot enter into the ?"n3, therefore he is not obligated in the nw ankam, to
bring (or even send) the "X 127p.
0 If we were to say that a Xab cannot send any 1277 to the p"»"a because he cannot perform 73n0, why do we need
a P00 to exclude a Xnv from bringing a X7 127p, since he cannot bring any 7277 due to his lack of 715°n0! See
‘Thinking it over’ # 3.
8
TosfosInEnglish.com



R "7 '0W 2,70 A 702

SUMMARY
Generally one may not bring a 1277 without performing 73710, except in (rare)
cases like Xnv1 97y where there is no other choice (or if it is a 1277 P90).

THINKING IT OVER
1. An Xnt 97w can send their 72mno% mi21p without 79°10.>" Why did not our X7m3
establish our 73wn by an &1 97w, or he will be 123 on 7nXn 92 (instead of o*w1)?!™

2. Mmoo proves that we do not say 72°10 ,772°107 "IRT WKW 31 121 729107 MR 9D
N2oyn, since a LY 21 who is a ¥71¥1 can bring his ]31p.53 However the 1297 of a
vIw a1 are MW where there is no 739, so what proof is there from 2121

3 Moo proves from 7nw QNI AW DX that a XY may send his N3P,
otherwise why do we need the v n.”> Seemingly there is a need for the v1¥°» even
if we maintain that a Xnv cannot send a 7279 (if we maintain PWRIT 7M2WN 177212).
The difference is in a case where the ¥nv became 770 during the following
Pmown. If not for the P10 we would assume that the Xnv is 217 in a 7°X1 127, but
he cannot bring it for ‘technical’ reasons (he cannot perform 72°10), therefore when
he becomes MY during the M>Wwn *»° he brings a 7°X7 127p. However, if we derive
it from the P05 that X272 1K 7IX°22 1KY 93, so he is Mo on the first day, and will
not be required to being in the Pm>wn *»°. What is moon proof?!

3! See footnote # 29.

52 See " w 0" R'wIAN.
33 See footnote # 45.

> See w'wn.

33 See footnote # 50.
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